PRZEKROJE POPRZECZNE
SKALA 1:100 b i
P 00t

km 0+360 Lms=2,20 m

== —

—Hﬁrf

Pugion =2,30 m?
Puasne =0,00 m?
km 0+400 Lhuns=1,70 m

—

jezdni

b

Pugin = 0,80 m?

P = 0,49 m?
km 0+460 Liuns= 2,40 m

8

K

)48

—_—

Puion =0,24 m?

Pug = 1,52 m?
km 0+493 Lms=4,40 m

£
5

a3

19898
Puyie = 0,18 m

e —
~————
Puage =0,00 m?

km 0+543 Lhuns= 6,40 m

‘

Payen = 0,20 m°
Pragss = 2,02 m2
km 0+568 L= 6,20 1

Puion =0,41 m?
Puag = 3,06 m?

km 0+592 Lnums= 35,90 m
P é
196,87
—_—_

Puve = 1,30 12

kim 0+647 .

—— e ~
N— ——— —

Proios = 0,84 2
Prayp = 0,00 m?

kim 04692 Luns=290m

dni

oz

|
z



